| abed

OpZvZ'eor'ozs
J0°0%

008

J0°0%
J0°0%

J0°0$
J0°0$
20°0%
J0°0%

J0°0$
J0°0$

J0°0%
J0°0%
J0°0%

J0°08
J0°0%
J0'0%
J0°08
J0'0$
J0°0%
J0°08
Weve'eor'oes

2y v89'9.88.8 Zh'¥89'92€'81% 28°926'6.2°V01$
00'0$ 00°0% 00°0%
00'0% 00°0$ 00'0%
00'0% 000$ 00'0%
00'0$ 00'0% 00'0%
00'0% 00'0% 00°0%
00'0$ 00°'0% 00°0%
00'0% 00°0% 00°0%
00'0$ 00°0% 00°0%
00'0$ 00°0% 00°0%
00'0$ 00°'0% 00°0%
00°0% 00'0% 00°0%
00'0$ 00'0% 00°0%
00'0$ 000% 00'0$
00°0$ 000% 00°0%
00°0% 00'0% 00'0$
00'0% 00°0$ 00'0%
00°0% 00°0$ 00'0%
00°0% 00°0$ 00'0%
00'0% 00°0% 00'0$
00°0% 00°0% 00°0%

65°202'899'99%

65°£02'899'09%

66'67¥'1L0'€6$

8L Py €64'98-
000%

00'0%

00°0%

00°0%

00'0%
00'0%
00'0$
00°0%

00°0%
00°0%

00'0%
00'0%
00'0$

00°0%
00'0%
00°'0%
00°0%
00°0%
000%
00°0%
10°209'8€%~

00 LL9'EL6 VL LS

ojseo |ap [e}01

00'0%

00'0%

00°0%

00°0%

00°0%
00°0%
000%
00'0%

00'0%
00'0$

00'0%
00°0$
00°0%

00'0%
00'0%
00'0$
000%
00°0%
00'0%
00°0%
00°250'0L1'€68

salollajue $8|e0s)) SoIoIala ap sopnapy
salojllajuk sa|easyy soloioisfa ep sopnapy
eoueq e| ep selopelioye A saiopnap e soAode o epnap 'olaloueul} 0}s0D
eoueq €
ap seiopenoye A seiopnap e sofode o epnap ‘oclajoueul) 0)SO;
soidioiunuw A seajelepa) sepephua e sauoloedipled
soidiojunw A seanjelapa) sepepnua e sauoloedjoipe,
opez|jelspa4 0}SED
(jesopad ouisiqoo) opezijelopa ojseo ap seweibol,
sauo|suad ap eINjonljssal A UQISI9AUI Bp SOpUO) B saucioepody
ugloeZIjiqe)Se Bp SOpuo) B saucioejody
|eioos pepunbas e| e sauojoepody
sauojoe|ign| A sauocisuad
sauojoebijgc
se|einjep sensesaq
Jeuocisoipsuni ugiohjosal ep ojusiwidwns ap seuotebigo
sosjwoldwo;
seuale sauopeladQ
uoiisab e| op ojualwelolew [ A eolqnd ugioun} ] & okody
|Eucionysul elRUaIoye B Jelofew eied A ouejsendnserd osesold |e ofody
ofody ap A soApesSIUIWPY
ugIsianu| ap sojo8A0ld
soolloeds]
{jesopad owaigos) sjusesiun) sepeluly sezlan4 sej sp sauolaung
‘ ugisjnadns A ugoeinBey
ojuswio} A ugloowold
seo|jqnd seanjjod sp ugloenjeaa A ojusjwinfiss ‘ugloeaue|d
s091|gNd S8ualg ap ugisirold
s00I[qNd SOIDIAIS ap UQIDElSaId
sauojoun4 sej ap ouadwasa(

20°0$ £8'921'80L'11LS £8'9/¥'802'L1$ £8°9/p'802'L1$ 2L7/EL'662'9%- 00'%19'€9Y'81$ SOIpISgNg SONO

J0°0% 00°0% 00°0% 00°0% 00'0$ 00°0% ugioeladQ ap sejfiay e sohg
soidiojuny
A seapelapad sapepnug o opeald A [B120S 10J098 SOIpISqng
seweabos,

(v-c)=9 G 2 (z+1)=¢ z )
opebed opebuareg opeayIpoly e opeqoidy oydaouos
olo1048lBgnsg
sosalbg

‘W e p§i80 | uolsasdw| ap eioy

£20z/'100/2) | A eyoad

NVOVOHOIIN SONVINNH SOHJ3¥3A SO 34 1TV.Lv.Lsd NOISINOD

£z0z/das/0g v £€202/2u9/L0 12a

eonewelbold elobajen Jod o)sen

ueoeOYII @p opejsy

un_lmowEmuogmw:a:mEn_obEmmﬁ_ day
$0 usn




